
ID QTY REFPIEZA/PART DESCRIPCIÓN DESCRIPTION

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Pg. 1/4

20 min

ALLEN

Nº  2,3

BMW S1000RR ’19-

1 Person

EASY

TORX

T25

6

3

2

1

5

4

13

4

4

1

1

1

1

1

VELCRO---I20431

SOPOR-I---20431

SOPOR2P5-L20522

SOPOR2P5-R20522

10907N/F/HM3

10907N/F/HM3

ADHESI----20522

Kit velcro dual lock ( tamaño pequeño) 

Pieza soporte alerón ( Tamaño pequeño)

Soporte  aluminio izquierdo

Soporte aluminio derecho

Alerón izquierdo

Alerón derecho

KIT Adhesivos

Kit dual lock  velcro ( small size)

Spoiler support piece ( small size)

Left aluminium support

Right aluminium support

Left spoiler

Right spoiler

Stickers set

11

12

7

9

8

10

2

2

2

2

2

2

TORNI-D7991-867

TORNI-I7380-730

TAPON--------92

Tornillo M5x16 DIN7991 (NEGRO)

Arandela de goma Ø4,5 x Ø11 x 2mm

Tornillo Allen M5x30 Ø11 ISO 7380

Tornillo Allen M5x20 Ø11 ISO 7380

Casquillo Ø13 x Ø8,5 x 9mm

Tapón tornillo M5 DIN7991 (NEGRO)

M5x16 DIN7991 Allen screw (black)

Ø4,5 x Ø11 x 2mm Rubber washer

M5x30 Ø11 ISO 7380 Allen screw

M5x20 Ø11 ISO 7380 Allen screw

Ø13 x Ø8,5 x 9mm arrowhead

M5 DIN7991 Screw cap (Black)

M O U N T I N G  I N S T R U C T I O N S

FRON TAL GP SP O IL E R /  A L E RON  FRON TA L G PREF 20522

Illustrations and layout by: www.ciandisseny.comV3.10/22

14 1 PLANT-----20522Plantilla Template

*Algunos de los Componentes se suministran montados / Some components are supplied assembled

V I D E O



www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

I N S T R UCC I ON E S  DE  M ON TA J E  -  MOU N T IN G  IN S T R U C T IO N S  -  M O N TAG E A NL E IT U NG

Pg. 2/4

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje  del lado izquierdo.
The right side assembly is shown as an example, so the same steps can be performed for the left side assembly.

BMW S1000RR ’19-

2

3

1
ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

DISASSEMBLY
DESMONTAJE

Illustrations and layout by: www.ciandisseny.comV3.10/22

1

9

7

 

14

Utilizar la misma plantilla para lado derecho e izquierdo
 Use the same template for left or right side

ID14

8



www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

I N S T R UCC I ON E S  DE  M ON TA J E  -  MOU N T IN G  IN S T R U C T IO N S  -  M O N TAG E A NL E IT U NG

Pg. 3/4

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje  del lado izquierdo.
same steps can be performed for the left side assembly.

BMW S1000RR ’19-

5

6

ASSEMBLY

ASSEMBLY
MONTAJE

Illustrations and layout by: www.ciandisseny.comV3.10/22

APPLY PRESSURE ON ADHESIVE AREA FOR 1 MINUT. IDEAL TAPE 
APPLICATION IS ACCOMPLISHED WHEN TEMPERATURE IS BETWEEN
21 ºC AND 38 ºC AND THE BOND IS ALLOWED TO DWELL 24 HOURS.

 

Extraer papel del adhesivo del velcro
Extract paper from the velcro

4.1

APPLY PRESSURE ON PIECES SPOILER SUPPORT.ID.3

ASSEMBLY
MONTAJE

4 The right side assembly is shown as an example, so the 

MONTAJE

6

6 12

3

3

UNIÓN LAS DOS PARTES DEL VELCRO 

                - CENTRAR LAS DOS FORMAS ENTRE ELLAS, 
 LO MAS EXACTO POSIBLE, ASEGURANDO 
 LA MÁXIMA AREA DE ADHESIÓN.

                - PRESIONAR TODA LA SUPERFICIE 
 ASEGURANDO UNA UNIÓN PERFECTA.  

JOINING THE TWO PARTS OF THE VELCRO 

               - CENTER THE TWO SHAPES BETWEEN THEM
 AS ACCURATELY AS POSSIBLE, ENSURING
 THE MAXIMUM ADHESION AREA. 

                - PRESS THE ENTIRE SURFACE ENSURING 
 PERFECT BONDING  

! 

! 



www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

I N S T R UCC I ON E S  DE  M ON TA J E  -  MOU N T IN G  IN S T R U C T IO N S  -  M O N TAG E A NL E IT U NG

Pg.4 /4

BMW S1000RR ’19-

8
ASSEMBLY
MONTAJE

Illustrations and layout by: www.ciandisseny.comV3.10/22

4

13

10

11

ASSEMBLY
MONTAJE

7

ESTA PARTE DEL KIT DEL VELCRO ID6 SE SUMINISTRA MONTADO EN LAS PIEZAS ID3
THIS PART OF THE VELCRO ID6 KIT IS SUPPLIED ASSEMBLED ON THE ID3 PARTS* 

6

3

5

3

6

* 

* 

Se muestra el montaje del lado derecho a modo de ejemplo, realizar los mismos pasos para el montaje  del lado izquierdo.
same steps can be performed fo  the left side assemblyThe right side assembly is shown as an example, so the 


